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Question 1- Marked price of an article is Rs 5000. The shopkeeper gives two 

successive discounts of 15%and Y% and sells it to Raj . Raj  sells the 

garments with same price at 20% profit to Mac. Mac paid Rs 4488 for the 

same dress. What is the discount offered by the shopkeeper?

प्रश्न 1- एक वस्तु का अंककत मलू्य 5000 रुपये ह।ै दकुानदार 15% और Y% की दो क्रमागत छूट 

देता ह ैऔर इसे राज को बेच देता ह।ै राज मैक को 20% लाभ पर समान मलू्य के वस्त्र बेचता ह।ै 

मैक ने उसी पोशाक के कलए 4488 रुपये का भुगतान ककया। दकुानदार द्वारा दी जाने वाली छूट 

क्या ह?ै A.12%

B. 14%

C. 18%

D.22%

E. None of these
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Question 2- A boat goes a certain distance upstream and comes back downstream 

to the starting point in 72 min. If the speed of the boat in still water becomes 

66.67% of the original, the time taken for the same journey will be 112 min. What 

is the ratio of the speed of current and the speed of the boat in still water?

प्रश्न 2- एक नाव धारा के प्रकतकूल एक कनकित दरूी तय करती ह ैऔर धारा के अनकूुल वापस प्रारंकभक

कबंद ुपर 72 कमनट में आती ह।ै यकद कस्िर पानी में नाव की गकत मलू नाव की गकत की 66.67% हो जाती 

ह,ै तो समान यात्रा के कलए कलया गया समय 112 कमनट होगा। कस्िर पानी में धारा की गकत और नाव की 

गकत का अनपुात क्या ह?ै A.1 : 6

B. 1 : 5

C. 4 : 1

D.1 : 7

E. None of these
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Question 3- Pipe P alone can fill the tank in 36 hours and pipe Q alone can fill the 

tank in 24 hours. Both pipes opened for 14 hours. The fraction of the tank remained 

after 14 hours is equal to the fraction of the tank filled by pipe R in two hour. In 

what time the tank gets filled when all three pipes are opened simultaneously?

प्रश्न 3- पाइप P अकेले टंकी को 36 घंटे में भर सकता ह ैऔर पाइप Q अकेले टंकी को 24 घंटे में भर 

सकता ह।ै दोनों पाइप 14 घंटे के कलए खलेु रह।े 14 घंटे के बाद शेष टैंक का कभन्न पाइप R द्वारा दो घंटे 

में भरे गए टैंक के अंश के बराबर ह.ै जब तीनों पाइप एक साि खोले जाते हैं तो टैंक ककतने समय में भर 

जाता ह?ै A.10 hr

B. 14 hr

C. 12 hr

D.16 hr

E. None of these
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Question 4- Three persons A, B and C started a business. They invest in the ratio 

of (1/3) ∶ (1/2) ∶ (1/4). After 6months A's investment becomes (3/2)th of his initial 

amount and B investment becomes (1/6)th of hisinitial amount. At the end of the 

year, the difference in the profit share of A and C is Rs. 4800. Find B's share

प्रश्न 4- तीन व्यकियों A, B और C ने एक व्यवसाय शरुू ककया। वे (1/3) ∶ (1/2) ∶ (1/4) के 

अनपुात में कनवेश करते हैं। 6 महीने बाद A का कनवेश उसकी प्रारंकभक राकश का (3/2)वां हो जाता ह ै

और B कनवेश उसकी प्रारंकभक राकश का (1/6)वां हो जाता ह।ै वषष के अंत में, A और C के लाभ 

कहस्से में अंतर 4800 रुपये ह।ै B का कहस्सा ज्ञात कीकजए A.Rs 4200

B. Rs 4400

C. Rs 5600

D.Rs 8400

E. None of these
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Question 5- Raj covers a distance of 300 kilometres. He covers the first half of 

the journey by bicycle at a speed of 30 km/h. He completes the remaining half 

by walking at a speed of 10 km/h. Calculate the time taken by Raj to cover the 

whole distance

प्रश्न 5- राज 300 ककलोमीटर की दरूी तय करता ह।ै वह यात्रा का पहला आधा भाग साइककल से 

30 ककमी/घंटा की गकत से तय करता ह।ै वह शेष आधे कहस्से को 10 ककमी/घंटा की गकत से 

चलकर परूा करता ह।ै परूी दरूी तय करने में राज द्वारा कलए गए समय की गणना कीकजये

A.15 hr

B. 30 hr

C. 20 hr

D.25 hr

E. None of these
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Question 6- Person P can complete 25% of the work in 8 days, person Q can complete 

31.25% of the work in 20 days, and Person R can complete the same work in 16 days. 

If P and Q worked together and after 10 days P left the work and R joined B, and after 

6 days R also left the work then find how many days (approx)person Q will take to 

complete the remaining work.

प्रश्न 6. व्यकि P 25% कायष को 8 कदनों में परूा कर सकता ह,ै व्यकि Q 31.25% कायष को 20 कदनों में परूा 

कर सकता ह,ै और व्यकि R उसी कायष को 16 कदनों में परूा कर सकता ह।ै यकद P और Q एक साि काम 

करते हैं और 10 कदनों के बाद P ने काम छोड़ कदया और R, B में शाकमल हो गया, और 6 कदनों के बाद R ने 

भी काम छोड़ कदया, तो ज्ञात कीकजये कक शेष कायष को परूा करने में व्यकि Q को ककतने कदन (लगभग) 

लगेंगे?
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A.43

B. 34

C. 24

D.46

E. None of these
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Question 7- A shopkeeper sells mixture of milk and water. A mixture of 180 litres 

contains milk and water in the ratio of 4 : 5. When some same quantity of water 

and milk added into the mixture then their ratio becomes 11 : 13. The quantity of 

water in the new mixture is what percent of total quantity of new mixture

प्रश्न 7- एक दकुानदार दधू और पानी का कमश्रण बेचता ह।ै 180 लीटर के एक कमश्रण में दधू और पानी 

का अनपुात 4: 5 ह.ै जब पानी और दधू की कुछ समान मात्रा कमश्रण में कमलाई जाती ह ैतो उनका 

अनपुात 11: 13 हो जाता ह।ै नए कमश्रण में पानी की मात्रा नए कमश्रण की कुल मात्रा का ककतना प्रकतशत 

है A.22.22%

B. 33.33%

C. 44.44%

D.53.33%

E. None of these
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Question 8- Two trains moving towards each other crosses one another in 60 

seconds. If both of them move in the same direction one will cross the other in 

100 seconds. If both are of the same length, find the ratio of the speed of the 

faster train to the slower train.

प्रश्न 8- एक-दसूरे की ओर जाने वाली दो टे्रनें एक-दसूरे को 60 सेकंड में पार करती हैं। यकद वे दोनों 

एक ही कदशा में चलते हैं, तो एक दसूरे को 100 सेकंड में पार कर जाएगा। यकद दोनों की लंबाई 

समान ह,ै तो तेज गकत वाली टे्रन की गकत का धीमी टे्रन की गकत से अनपुात ज्ञात कीकजये।

A.1 : 4

B. 4 : 1

C. 2 : 3

D.3 : 4

E. None of these
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Question 9- Rs. 32000 was invested for three years, partly in scheme A at the 

rate of 5% simple interest per annum and partly in scheme B at the rate of 8% 

simple interest per annum. The total interest received at the end was Rs. 6960. 

What amount of money was invested in scheme A?

प्रश्न 9- 32000 रुपये को तीन वषों के कलए कनवेश ककया गया, योजना A में आंकशक रूप से 5% 

साधारण ब्याज प्रकत वषष की दर से और आंकशक रूप से योजना B में 8% साधारण ब्याज प्रकत वषष

की दर से। अंत में प्राप्त कुल ब्याज 6960 रुपये िा. योजना A में ककतनी राकश का कनवेश ककया 

गया िा? A.Rs 24000

B. Rs 8000

C. Rs 12000

D.Rs 18000

E. None of these
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Question 10- Three persons Dinesh, Dreko and Dang contested in an election. 

The number of voters in the election was 71,000 out of which 10% was 

declared invalid. Dinesh won the election by receiving 40% of the valid votes. 

The votes received by Dang is 1600 more than the votes received by Dreko. 

What is the difference between the number of votes received by Dhruv and 

Danish?

प्रश्न 10- तीन व्यकि कदनेश, डे्रको और डांग एक चुनाव में चुनाव लड़ते हैं। चुनाव में मतदाताओ ं

की संख्या 71,000 िी, कजसमें से 10% को अवैध घोकषत ककया गया िा। कदनेश ने वैध मतों का 

40% प्राप्त करके चुनाव जीता। डांग को कमले वोट डे्रको को कमले वोटों से 1600 ज्यादा हैं। ध्रवु 

और डेकनश द्वारा प्राप्त मतों की संख्या के बीच का अंतर क्या ह?ै
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A.Rs 6200

B. Rs 5200

C. Rs 5400

D.Rs 6600

E. None of these
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Question 11- What approximate will come in the place of the question mark 

‘?’ in the following question?

प्रश्न 11- कनम्नकलकखत प्रश्न में प्रश्न कचह्न '?' के स्िान पर क्या सकन्नकट आएगा?

9.99 - [9.01 - {7.89 – 6.91 – 5.190 + 3}] = ?

A.1

B. 2.6

C. 0

D.3.5

E. 5
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Question 9- Rs. 32000 was invested for three years, partly in scheme A at the 

rate of 5% simple interest per annum and partly in scheme B at the rate of 8% 

simple interest per annum. The total interest received at the end was Rs. 6960. 

What amount of money was invested in scheme A?

प्रश्न 9- 32000 रुपये को तीन वषों के कलए कनवेश ककया गया, योजना A में आंकशक रूप से 5% 

साधारण ब्याज प्रकत वषष की दर से और आंकशक रूप से योजना B में 8% साधारण ब्याज प्रकत वषष

की दर से। अंत में प्राप्त कुल ब्याज 6960 रुपये िा. योजना A में ककतनी राकश का कनवेश ककया 

गया िा? A.Rs 24000

B. Rs 8000

C. Rs 12000

D.Rs 18000

E. None of these
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Question 12- What approximate will come in the place of the question mark 

‘?’ in the following question?

प्रश्न 12- कनम्नकलकखत प्रश्न में प्रश्न कचह्न '?' के स्िान पर क्या सकन्नकट आएगा?

11.01 – 9.02 × 3.93 + 27.005 ÷ 9.02 + 6.909 = ?

A.15

B. -11

C. -15

D.22

E. -28
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Question 13- What approximate will come in the place of the question mark 

‘?’ in the following question?

प्रश्न 12- कनम्नकलकखत प्रश्न में प्रश्न कचह्न '?' के स्िान पर क्या सकन्नकट आएगा?

231.10 + 342.01 – 188.98 = 21.92 × ? – 100.010

A.24

B. 26

C. 28

D.22

E. 31



@MathbyTarunsir
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